Name: Score;

Morning Math

Today is:
STy o . . .
How much? m’r«\ Ty — f"f""\ I Write the number that is one
m, — -h - 1 2% .- att
,.'rlTll.'!'\lTr:::1‘:;|>::|'\)\;l'|'l.|:‘r\#n — ;E-'"' :S_(’_ 3!: t@ hundred maore thon 2f908
il = ‘v:gmg o Bt =%
T RF ey ,#I-Iq.

% . o ;h : #.% ‘-.
” 80 3 3"‘- - E/QQL

Round to nearest hundred.

s Itis morning.

2,347 2,300

[: 914.m

Please order these numbers from least to greatest:

/7,728 /7,035 7,376 /7,534 7,157

1,035 )51 1,310 7 534 7728

Flease mark all numbers that are odd:

O 3,780 ® 6,823 O 7218 O 1,684 O 6,625

Please finish:

qug, 928, 08, BB , _BLB, _BuyB, B8  B08. 188, 108 . 148

Solve:
$ B5Y4.86 4,802 | 28 ,
+ 289.18 - 2683 x 9 68 _ 84787
g
41 14y 04 2,19 152
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Score:

Name:
Homework Math
Today is:
How much? g P Write the number that is ten
el ) more than 3,382.
R o b
i R T
204 A 3392
What is the time? Show 12:43

Round to nearest hundred.

.« Itis evening.
5,782 9,800
(¢218 pom
Please order these numbers from least to greatest:
52863 4,974 4,656 5020 5,122
4,050 44744 5,020 5122 5,283
Please mark all numbers that are even:
O 5,721 O 2,924 O 6,863 O 9,500 O 3718
Please finish: 171
682, 689, 696, 103 110, U7, 24, 713], 738 745 752
$ 573.25 8,200 231 8
+  484.98 - 5157 x 6 7 ]Z% _g
§1058. 23 3,043 1,38 I 3
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Name: Score:

Morning Math

Today is:
Howmuch? & ..o £%
PP BY =
= 1A
G Pt 2. ',;.": .
20-27T 0% e ~x.
P . S ;
What ; ime? Please solve: o)
at is the time Ib 37
408
. ltis night. N+ 637 = 1,045 N=_ 408
What is the missing number?
8:37 pm
] 344,453, 345,453, 5"f(/,. 453 | 347453
Maria is driving to her cousin's house. Her cousin 428

lives 1284 miles away. She has three days to get 3/ [, 284
to her cousin's house. How many miles must she
average o arrive by the end of the third day?

Maria needs to average HZE  miles a day.

Round to the nearest hundred: Which is the greatest number?
2,462 H500 2,038 _Z,000 O 12,230 @ 12,421 O 12,083
[ b9l Kt
$3.23 5 )8 456 7,554 20,897
x 5 - 4437 + 67,565
F o 15 3,117 56,461

MM3ESH -2 ©2009educationCreations



Name:

Score:

Homework Math

Today is:

How much2  f:¢

= T g
$# £ \
[1:22 ...,.';" _‘:.....f f_f_ .
What is the timeg | Flease solve: 563
+42
s ltis afternoon. N-HZ2I =563 ‘?g/’f N = —Cf&/_——
What is the missing numbere
2:2% p.
| 390214, 390216, _2T0, 218 | 390,220

Jody jogs a total of 85 miles every month. 2125
How many miles does he average per week? 4 / 85

Round your final answer to the nearest mile.

Jody jogs an average of 2’ miles a week.

Round to the nearest ten: Which is the least number?

2,281 2,780 2465 _£,470 O 12,098 @ 1,784 O 11,923
| 433K 3
$L+.5§ 4 )—L5'735 3,126 75,216
X - 2,646 + 5§ 938
$31.00 480 e
MMSSBH - 2
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Name: Score;

Morning Math

Today is:
How muchg  eny  .um S
-% L g
* |z £h,
How many eggs in 6 dozen? /Z‘
L6 __CE=a
72 Coge |34 -N=-783 vl N=_5b]
JJ
How many dimes in twelve dollarse Use >, < or =
%12
od G5 | @
3,309 3344 7x9x3 @23x3
0 dimes 5o
Greg bought a new sofa. He gave the store ® J00.00
clerk $700.00 in cash. The sofa cost $627.38. 7 38
How much money will the store clerk give b11,
back to Greg? # T77.62

Answer: $72-' (&2.

Melinda is the eighth person in line. She is 20
waiting to see the doctor. If each person
takes 20 minutes, how long will she have to X

wait for her turne [Ll 0
Answer: | HO Minutes
Mrs. Odem is planted 22 rows of corn in her 12
garden. Each row had 16 seeds planted. If NG
all of the seeds sprout, how many plants will }_‘_______
grow altogether?
Answer: 3572 P\Oﬂﬂ
Please solve:
213
4,210- 784 = 3 HZp Vx2xMx2= | 81

L] |
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Name; Score:

Homework Math

Today is:
“ P W - Hrll.:r\ .‘ |u‘=| 1 a
i Pt n £ = o | - - —m
How muche  #03%.  fomet Dot FIRR e B R
_j’ g ‘.\",‘ y Eeery g o f LR f/.f::\q.\ Y LJ =
‘%‘-_- ELIPR - g = \ il _;"_.-_ Y. ‘_5‘1 \ I ' G‘r e m“

v ki _ ] Pl P pr o T - = N
Bu., w2 LR IR W S = B

?ﬁt
{
.
|
N
Lo i

12 Please solve: To§

How many hotdogs in 8 dozen®g

X6
A hot dowy E N-386=708 N-_LAH
)

How many nickels in four dollars? Use > . < of =

20 i

e+ 24
g‘o n[wl[ "%,—'g_- |2x7®82 3x"+x2®|2x2

Mrs. Sanders bought a new television. She paid
the store clerk $900.00 in cash. The felevision cost B T0O* 00

$807.73. How much money will Mrs. Sanders get
backe % - 8 O ’l _c 73
. & 227
Answer: q 2' 2~ 7

If there are seven people in line ahead of

Steven and it takes each person 12 minutes 17

for their turn on a ride, how many total min- x 71

utes must Steven wait for his turn? 1 ?L—l' -

Answer: th minu k)
Doreen planted 15 rows of carrots. In the 27

spring, a total of 330 carrots had grown. How
many carrots grew per row? 15 3 20

Answer: 27 CanpH

Please solve:

428
3,700 - 655= 2,045 §x3x3x4= 2 §6 x_ 6

2,568

MMSSBH - 3 ©2009EducationCreations



Name;

Score:

Today is;

Morning Math

Please finish:

132,122, 112, [DL

What is one more than 4,3092

2 14 » i) 441210

G Eis e How muche 15 quarters, 7 dimes, 35 pennies?
. Itis night. 16 y %25= $3.75
7% 07 '3“;
: 35X 01T 2%
8 92pm. % 4. 80
What number comes before? what number comes after? Write the thousand number
on the line;
[,299 7300 4,299 4, 300 738,195 &

Circle the number that is the least odd number: What is ten more than 4,5632

136 Ho4 (373) 336 HI9 L4573

Please solve.

6,332 700
+4,689  -Y44g
0,911 252

Please circle the oblique line.

3,157
+ /7,787 —

I,

2,041

Use the calendar to answer the questions:

June

th
what is the date of the 3rd Wednesday?2 J u-ne [6
Suby MON T TUE TWED | THY | FR] SAT
| 2 3 4 S
What day of the week is tlune 5the undQMl
5 é 7 g 9 10 Il
12113 [ 14 |15 |46 |17 |18 Itis June 12th, what will the date be in 8 days? Jb{fle 20
1 20 21 22 23 Ve | 25
26 | 27 28 | 29 10 How many Fridays are in June? L" Fn dDdJls
MM3SB - 4
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Name:; Score:

Homework Math

Today is:
Please finish: What is one less than 3,1502
320,300, 280, 26O = 2HO0 220 200 3149

i o
SR S e How much¢ 13 quarters, 11 dimes, 3 pennies?

2y 9,26 = 83.25

« |tis afternoon.

jty o= 110
}‘ DB E x [ OJ = L 03
P #4328
what number comes before? What number comes after? Write the hundreds number
on the line:
4,087 400 23392, 340 452,780 7
Circle the number that is the least even number: What is one hundred more than |,3752
505 496 537 363 510 j} 4775
e . Please circle the horizontal line,

5,482 gH0 4,634

+1,945 - 691 + 3,998 6/
| 49 g, b3z

1427

Use the cdlendar to answer the questions:

June Tune 25

What is the date of the 4th Saturday?
by [WVON | TS L WES | THL | PR SAT

| 2 3 4 |
what day of the week is June 8th? Weolnegdo“ql

'z 13 I IS 16 17 18 Itis June 23rd. what was the date 5 days ago? Ddune ,9

9 Zl
20 22 23 4 125 ’ g,{,.n

26 27 28 79 30 Itis June 3rd. what was the date 3 days ago? M D«L{ 3

MM3SB - 4 ©2009EducationCreations



Name: Score:
Morning Math
Today is:
e * % o~ | F— grt—
How much? f \ .:"‘~ :,?": ',‘ ::5% ’@ & ~ . ey PR M
PR S G O I S I B §-'a) . Ll L] el . :
- ¥ 3TN AT ] Ok ==t 5/ e \m———
et -~ e 3 ot @ &-a -*.'E:::*
® om0 P 2 A & = 2 e g
_ 19
Last month was June. In 2 months it will RIEESEEOITES (o, -3 Q
3,2 {

Auqtu%

6,329 - N = 3,268

Write two hundred fifty-three thousand in
digits.

253 000

Use >, < or = to make the sentence frue:

2068
| 24 @(I3x6) x3+9-3+7-2+123

Mrs. Milton just bought material to make
new curtains. She paid $5.39 a yard for
the material. She bought 8 yards. How
much did she pay for the 8 yards of mate-
riale

Mrs. Milton paid _ ® L4312

& 5.3
X &

_—

Mr. Hendricks jogs an average of 18 mites per

1€

week. About how many miles will he jogin 12 ¥
weeks? -
He will jog ZW mil_ﬂin 12 weeks.
B
64,778 62,100 AT R 22
x
+ b3,694 - Bb4,823

8471 7211

MMSSB - 05
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Name:

Score:

Homework Math

Today is:

Using the highest valued coins and bills, show $ 135.58.

: . A § i ) 3 :
Buls 1—"ice  1-"¢, i-Yie, 1-9 (ans- I-"ege, 1-% 0y ) 3-"cal
. €T (L2
In four months it will be November. It is now: | T1€5€ solve: - ,11' CA‘S‘;’T
—_ —IJ__. C
Jul\/ 9035 -N=7327 | 70 F N=_,TCE

Write two hundred eighty-one thousand
five hundred four in digits.

A5, 504

Use >, < or = to make the sentence true:

qg@q x 9 -6+8-1+22-11+5

Amanda is putting a small white fence
around her garden to keep out rabbits.
She needs to know the perimeter so that
she can buy enough fencing. What is the
perimeter of Amanda's yarde

Amanda's yard is 3365t = | L’lymd S

56 feeti

112 feet

Parker drives an average of 58 miles each

5%

week. How many miles will Parker drive in two f W&
monthse L/’({‘ Ll
Parker will drive E{(p LI 501530 e arihe.
MEIN'S 52 :
46,56 | 62,037 4 W . 37 2
+ 29,794 - 28,528 g 8
T, 395 33,509 )
MMSSBH - 05 g





